

Write the calculations in your book and solve them. Use equipment or drawings if needed.

$$\frac{2}{6} + \frac{3}{6} =$$

$$\frac{4}{9} + \frac{1}{9} =$$

$$\frac{5}{7} + \frac{2}{7} =$$

$$\frac{2}{8} + \frac{4}{8} =$$

$$\frac{1}{3} + \frac{1}{3} =$$

$$\frac{4}{10} - \frac{1}{10} =$$

$$\frac{7}{9} - \frac{6}{9} =$$

$$\frac{4}{4} - \frac{3}{4} =$$

$$\frac{6}{6} - \frac{6}{6} =$$

$$\frac{9}{10} - \frac{6}{10} =$$

Write the calculations in your book and solve them. Use equipment or drawings if needed.

$$\frac{2}{6} + \frac{3}{6} =$$

$$\frac{4}{9} + \frac{1}{9} =$$

$$\frac{5}{7} + \frac{2}{7} =$$

$$\frac{2}{8} + \frac{4}{8} =$$

$$\frac{1}{3} + \frac{1}{3} =$$

$$\frac{4}{10} - \frac{1}{10} =$$

$$\frac{7}{9} - \frac{6}{9} =$$

$$\frac{4}{4} - \frac{3}{4} =$$

$$\frac{6}{6} - \frac{6}{6} =$$

$$\frac{9}{10} - \frac{6}{10} =$$

Write the calculations in your book and solve them. Use equipment or drawings if needed.

$$\frac{2}{6} + \frac{3}{6} =$$

$$\frac{4}{9} + \frac{1}{9} =$$

$$\frac{5}{7} + \frac{2}{7} =$$

$$\frac{2}{8} + \frac{4}{8} =$$

$$\frac{1}{3} + \frac{1}{3} =$$

$$\frac{4}{10} - \frac{1}{10} =$$

$$\frac{7}{9} - \frac{6}{9} =$$

$$\frac{4}{4} - \frac{3}{4} =$$

$$\frac{6}{6} - \frac{6}{6} =$$

$$\frac{9}{10} - \frac{6}{10} =$$